
Parts Diagram
Folding Modesty Panel 

June 2018

© 2018 • Litho in USA • Code 60637R2/KI/PDF/0618

BN-SLMP2

3 44.0705 Panel Hanger
4          44.0706 Hanger Bracket
5          45.0450 Panel Lock
6 12.1800 Screw, #8 x 5/8" Pan Head
7 12.0160 Screw, #12 x 3/4" Tapered Head
8 12.1001 Screw, #10 x 1" Pan Head
9 13.0104 Hardware Kit, includes items 2,3,4,5,6,7 and 8

Hardware kit items are for 1 1/4" thick, 60" & 72" Fixed BaseNote:

tables only. See chart.

2 53.2660.BL Lock Bracket (for 1 1/4" thick top)
1 53.2661.BL Lock Bracket (for 1 3/4" thick top)

1

7

9

3 8

4

2

5

6

Sliding Modesty Panel

XX = Select Color
Note: Parts included in Item 9 are not available to be ordered separately. 
Item 	 Part Number 	 Item Description
  1 	 53.2661.BL 	 Lock Bracket (for 13/4” thick top)
  2 	 53.2660.BL 	 Lock Bracket (for 11/4” thick top)
  3 	 44.0705 		  Panel Hanger
  4 	 44.0706 		  Hanger Bracket
  5 	 45.0450 		  Panel Lock
  6 	 12.1800 		  Screw, #8 x 5/8” Pan Head
  7 	 12.0160 		  Screw, #12 x 3/4” Tapered Head
  8 	 12.1004 		  Screw, #10 x 1” Pan Head
  9 	 13.0104 		  Hardware Kit, includes items 2, 3, 4, 5, 6, 7 and 8
			   Note: Hardware kit items are for 11/4” thick, 60” & 72” Fixed Base tables only. See Chart.


